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1. e`nk lajpuk gS % 
 

1. Soil structure is : 

(A) e`nk d.kksa dk O;oLFkkiu  (A) Arrangement of soil particles 

(B) e`nk d.kksa dk vuqikr  (B)  Proportion of soil particles 

(C) dkcZfud inkFkZ dk vuqikr  (C)  Proportion of organic matter 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

2. fuEufyf[kr esa ls dkSu&lk QsjkseSXuhf’k;e 

[kfut ugha gS \ 

 
2. Which of the following is not 

ferromagnesium minerals ? 

(A) ,YckbV  (A) Albite 

(B) DokV~Zt  (B)  Quartz 

(C) ,ukWFkkZbV  (C)  Anorthite 

(D) vksyhfou  (D)  Olivine 

3. e`nk esa e`nk Bksl dk izfr’kr gksrk gS % 
 

3. Percentage of soil solid in soil is : 

(A) 25%  (A) 25% 

(B)  30%  (B)  30% 

(C)  50%  (C)  50% 

(D)  60%  (D)  60% 

4. e`nk foKku ds tud gaS % 
 

4. Father of Soil Science is : 

(A) oh- oh- Mksdqpso  (A) V. V. Dokuchaiev 

(B) ,l- ih- ,y- lksjsUlu  (B)  S. P. L. Sorenson 

(C) vjuksu ,oa LVkmV  (C)  Arnon and Stout 

(D) ts- oh- yhfcx  (D)  J. V. Liebig 
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5. e`nk esa dkcZfud inkFkZ feykus ij d.k ?kuRo 

ij D;k izHkko iM+rk gS \ 

 
5. When organic matter is added into the 

soil the effect on particle density : 

(A) c<+ tkrk gS  (A) Increased 

(B) ?kV tkrk gS  (B)  Decreased 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) dksbZ izHkko ugha  (D)  No effect 

6. e`nk dk vkSlr LFkwy ?kuRo gS % 
 

6. Average bulk density of soil is : 

(A) 2.65 Mg m
–3 

 (A) 2.65 Mg m
–3 

(B)  2.00 Mg m
–3 

 (B)  2.00 Mg m
–3 

(C)  1.33 Mg m
–3 

 (C)  1.33 Mg m
–3 

(D)  0.50 Mg m
–3 

 (D)  0.50 Mg m
–3 

7. equlsy jax pkVZ iznf’kZr djrk gS % 
 

7. Munsell colour chart indicates : 

(A) o.kZ  (A) Hue 

(B) eku  (B)  Value 

(C) Øksek  (C)  Chroma 

(D) mi;qZDr lHkh  (D)  All of the above 

8. vknzZrkxzkgh xq.kkad vkSj {ks= /kkfjrk ds e/; 

mifLFkr ty dh ek=k dks dgrs gSa % 

 
8. Water present between hygroscopic 

coefficient and field capacity is known 

as : 

(A) dsf’kdk ty  (A) Capillary water 

(B) xq#Rokd”kZ.k ty  (B)  Gravitational water 

(C) vknzZrkxzkgh ty  (C)  Hygroscopic water 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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9. e`nk }kjk ty /kkj.k esa fdrus cy dk;Z djrs 

gaS \ 

 
9. How many forces work on water holding 

by soil ? 

(A) ,d  (A) One 

(B) nks  (B)  Two 

(C) pkj  (C)  Four 

(D) rhu  (D)  Three 

10. e`nk ok;q esa vkWDlhtu (O2) dh izfr’kr ek=k 

gksrh gS % 

 
10. O2 (Oxygen) of content in soil air is : 

(A) 98.0%  (A) 98.0% 

(B)  0.03%  (B)  0.03% 

(C)  20.60%  (C)  20.60% 

(D)  20.95%  (D)  20.95% 

11. áwel dh fof’k”V Å”ek gksrh gS % 
 

11. Specific heat of humus is : 

(A) 0.2  (A) 0.2 

(B)  0.6  (B)  0.6 

(C)  0.8  (C)  0.8 

(D)  0.5  (D)  0.5 

12. 2 % 1 Vkbi Qwyus okys e`fŸkdk [kfut dk 

mnkgj.k gS % 

 
12. Example of 2 : 1 expanding type clay 

mineral is : 

(A) dsvksfyukbV  (A) Kaolinite 

(B) ekWUVeksfjyksukbV  (B)  Montmorillonite 

(C) bykbV  (C)  Illite 

(D) DyksjkbV  (D)  Chlorite 
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13. fuEufyf[kr esa ls fdldh /kuk;u fofue; 

{kerk vf/kd gS \ 

 
13. In which of the following is highest CEC ? 

(A) ekWUVeksfjyksukbV  (A) Montmorillonite 

(B) bykbV  (B)  Illite 

(C) dsvksfyukbV  (C)  Kaolinite 

(D) gsykslkbV  (D)  Halloysite 

14. pH dk lw= gksrk gS % 
 

14. Formula of pH is : 

(A) 
1

p H lo g
[H ]

  
 

(A) 
1

p H lo g
[H ]

  

(B)  
[H ]

p H lo g
1

  
 

(B)  
[H ]

p H lo g
1

  

(C)  
[H ]

p H lo g
[O H ]

  
 

(C)  
[H ]

p H lo g
[O H ]

  

(D)  p H lo g [H O H ]    (D)  p H lo g [H O H ]   

15. vEyh; e`nkvksa esa lq/kkjd ds :i esa iz;ksx 

djrs gaS % 

 
15. Amendment use of reclamation of acidic 

soil is : 

(A) ftIle  (A) Gypsum 

(B) QkWLQksftIle  (B)  Phosphogypsum 

(C) pwuk  (C)  Lime 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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16. ih- ,p- ,oa ih- vks- ,p- dk ;ksx lnSo gksrk  

gS % 

 
16. Sum of pH and pOH always is : 

(A) 10  (A) 10 

(B)  14  (B)  14 

(C)  8  (C)  8 

(D)  12  (D)  12 

17. {kkjh; e`nk dh fo|qr pkydrk rFkk ih- ,p- 

gksrk gS % 

 
17. Electrical conductivity and pH of alkaline 

soil is : 

(A) 4.0 dS/m ls vf/kd] 8.5-10.0  (A) > 4.0 dS/m, 8.5-10.0 

(B) 4.0 dS/m ls de] 8-5 ls de  (B)  < 4.0 dS/m, < 8.5 

(C) 4.0 dS/m ls de] 8.5-10.0  (C)  < 4.0 dS/m, 8.5-10.0 

(D) > 4.0 dS/m ls vf/kd] 7.0-8.0  (D)  > 4.0 dS/m, 7.0-8.0 

18. /kuk;u fofue; {kerk dh ,l- vkbZ- (SI) 

bdkbZ gS % 

 
18. S. I. unit of Cation Exchange Capacity 

(CEC) is : 

(A) Meq/100 g  (A) Meq/100 g 

(B)  Mmho/100 g  (B)  Mmho/100 g 

(C)  Cmol (p
+
)/kg  (C)  Cmol (p

+
)/kg 

(D) mi;qZDr lHkh  (D)  All of the above 
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19. vk;ru ds vk/kkj ij e`nk esa dkcZfud inkFkZ 

dh izfr’kr ek=k gksrh gS % 

 
19. On the volume basis percentage of 

organic matter in soil is : 

(A) 45%  (A) 45% 

(B)  25%  (B)  25% 

(C)  50%  (C)  50% 

(D)  5%  (D)  5% 

20. áwel dk dkcZu % ukbVªkstu vuqikr gksrk gS % 
 

20. C : N ratio of humus is : 

(A) 10 : 1  (A) 10 : 1 

(B)  4 : 1  (B)  4 : 1 

(C)  20 : 1  (C)  20 : 1 

(D)  25 : 1  (D)  25 : 1 

21. e`nk esa dkcZfud inkFkZ dk Lrj vk/kkfjr gksrk 

gS % 

 
21. Organic matter level of soil depends on : 

(A) tyok;q ij  (A) Climate 

(B) e`nk la?kVu ij  (B)  Soil texture 

(C) ouLifr;ksa ds izdkj ij  (C)  Type of vegetation 

(D) mi;qZDr lHkh  (D)  All of the above 

22. og izØe ftlesa e`nk esa mifLFkr veksfu;e 

ukbVªkstu ukbVªsV ukbVªkstu esa ifjofrZr gks 

tkrh gS] dgykrk gS % 

 
22. The process in which conversion of 

4
N H N  to 

3
N O N  in soil is called : 

(A) foukbVªhdj.k  (A) Denitrification 

(B) veksuhdj.k  (B)  Ammonification 

(C) ukbVªhdj.k  (C)  Nitrification 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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23. ukbVªkbV dks ukbVªsV :i esa ifjofrZr djus esa 

‘kkfey lw{etho gS % 

 
23. The microorganism involved in 

conversion of nitrite to nitrate form is : 

(A) ukbVªkscSDVj  (A) Nitrobacter 

(B) ukbVªkslkseksukl  (B)  Nitrosomonas 

(C) L;wMkseksukl  (C)  Pseudomonas 

(D) ukbVªkslksdksdl  (D)  Nitrosococcus 

24. mŸkj izns’k esa jkdj e`nk;sa ikbZ tkrh gSa % 
 

24. Rakar soils are found in U.P. in : 

(A) vkxjk e.My esa  (A) Agra region 

(B) bykgkckn eas  (B)  Allahabad 

(C) cqUnsy[k.M esa  (C)  Bundelkhand 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

25. rjkbZ e`nkvksa esa vf/kd gksrk gS % 
 

25. More in Tarai soils : 

(A) vk;ju  (A) Iron 

(B) lksfM;e  (B)  Sodium 

(C) dkcZfud inkFkZ  (C)  Organic matter 

(D) dSfY’k;e  (D)  Calcium 

26. dkyh e`nkvksa esa pwuk vkSj QkWLQksjl dh ek=k 

gksrh gS % 

 
26. Lime and phosphorus are found in black 

soils : 

(A) vf/kd  (A) More 

(B) de  (B)  Less 

(C) e/;e  (C)  Medium 

(D) cgqr de  (D)  Very less 
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27. Hkkjr esa lcls vf/kd dkSu&lh ènk;sa ik;h tkrh 

gSa \ 

 
27. Which soils cover most of area in India ? 

(A) yky e`nk;sa  (A) Red soils 

(B) dkyh e`nk;sa  (B)  Black soils 

(C) rjkbZ e`nk;sa  (C)  Tarai soils 

(D) tyks<+ ènk;sa  (D)  Alluvial soils 

28. mŸkj izns’k esa iM+ok ;k jkdj fdl e`nk dks 

dgrs gSa \ 

 
28. Parwa or Rakar soils are also known as 

what in U.P. ? 

(A) tyks<+ ènk;sa  (A) Alluvial soils 

(B) dkyh e`nk;sa  (B)  Black soils 

(C) yky e`nk;sa  (C)  Red soils 

(D) ‘kq”d e`nk;sa  (D)  Desert soils 

29. Hkkjr ds fdl jkT; esa dkyh e`nk;sa lcls 

vf/kd ik;h tkrh gSa \ 

 
29. Which of the following state black soils 

are found more in India ? 

(A) mŸkj izns’k  (A) U.P. 

(B) fcgkj  (B)  Bihar 

(C) jktLFkku  (C)  Rajasthan 

(D) egkjk”Vª  (D)  Maharashtra 
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30. Hkkjr esa dqy fdrus e`nk x.k tk;s tkrs  

gSa % 

 
30. Total number of soil orders found in India 

is : 

(A) 12  (A) 12 

(B)  11  (B)  11 

(C)  9  (C)  9 

(D)  7  (D)  7 

31. uohure e`nk x.k gS % 
 

31. Latest soil order is : 

(A) oVhZlkWYl  (A) Vertisols 

(B) ,fjMhlkWYl  (B)  Aridisols 

(C) ,.VhlkWYl  (C)  Entisols 

(D) tSyhlkWYl  (D)  Gelisols 

32. fdl e`nk x.k esa Qwyus vkSj fldqM+us dk xq.k 

vf/kd ik;k tkrk gS \ 

 
32. Which soil orders have found more 

swelling and shrinkage properties ? 

(A) oVhZlkWYl  (A) Vertisols 

(B) ,YQhlkWYl  (B)  Alfisols 

(C) ,fjMhlkWYl  (C)  Aridisols 

(D) tSyhlkWYl  (D)  Gelisols 
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33. e`nk x.k dh lcls NksVh bdkbZ ¼la[;k ds 

vk/kkj ij½ gS % 

 
33. Lowest unit of soil order (on the basis of 

number) is : 

(A) dqy  (A) Family 

(B) Js.kh  (B)  Series 

(C) x.k  (C)  Order 

(D) mi&x.k  (D)  Sub-order 

34. dhVuk’kh fu;af=r djrk gS % 
 

34. Insecticides control : 

(A) thok.kq  (A) Bacteria 

(B) QatkbZ  (B)  Fungus 

(C) lw=d`fe  (C)  Nematode 

(D) dhVksa  (D)  Insects 

35. ikS/kksa ls izkIr dkcZfud fo”k gS % 
 

35. Organic insecticide of plant origin  

is : 

(A) dkckZesV  (A) Carbamate 

(B) Mh- Mh- Vh-  (B)  DDT 

(C) fy.Msu  (C)  Lindane 

(D) fudksVhu  (D)  Nicotine 
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36. cht j{kd doduk’kh gS % 
 

36. Seed protective fungicide is : 

(A) dSIVku  (A) Captan 

(B) ftusc  (B)  Zineb 

(C) pwuk xU/kd  (C)  Lime sulphur 

(D) dkckZesV  (D)  Carbamate 

37. dkcZfud inkFkZ izkIr gksrk gS % 
 

37. Organic matter is obtained : 

(A) 1.724 × O. C.  (A) 1.724 × O. C. 

(B)  1.55 × O. C.  (B)  1.55 × O. C. 

(C)  1.62 × O. C.  (C)  1.62 × O. C. 

(D)  1.70 × O. C.  (D)  1.70 × O. C. 

38. fyFkksfLQ;j esa volknh pV~Vkusa ik;h tkrh gSa] 

yxHkx % 

 
38. Lithosphere has sedimentary rocks 

about : 

(A) 95%  (A) 95% 

(B)  74%  (B)  74% 

(C)  18%  (C)  18% 

(D)  5%  (D)  5% 

39. dkcZfud inkFkZ esa dkcZfud dkcZu dk izfr’kr 

gksrk gS % 

 
39. Percentage of organic carbon in organic 

matter is : 

(A) 25%  (A) 25% 

(B)  20%  (B)  20% 

(C)  58%  (C)  58% 

(D)  68%  (D)  68% 
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40. jkbtksfc;e gS % 
 

40. Rhizobium is : 

(A) lgthoh tho  (A) Symbiotic organisms 

(B) vlgthoh tho  (B)  Asymbiotic organisms 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

41. lEiw.kZ fodflr e`nk izksQkby ik;h tkrh 

gS % 

 
41. Fully developed soil profile comes 

under : 

(A) v{ks=h; e`nkvksa esa  (A) Azonal soils 

(B) {ks=h; ènkvksa esa  (B)  Zonal soils 

(C) vUr%{ks=h; e`nkvksa esa   (C)  Intrazonal soils 

(D) mi;qZDr lHkh  (D)  All of the above 

42. e`nk izksQkby gS % 
 

42. Soil profile is : 

(A) mnxz dkV  (A) Vertical section 

(B) {kSfrt dkV  (B)  Horizontal section 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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43. Vwjesykbu ,d izkFkfed [kfut gS ftlesa 

------------------------ 
ik;k tkrk gSA 

 
43. Tourmaline is a primary mineral in which 

............ is found. 

(A) lYQj  (A) Sulphur 

(B) cksjkWu  (B)  Boron 

(C) vk;ju  (C)  Iron 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

44. fu{kkyu gS % 
 

44. Eluviation is : 

(A) ok’k&vkmV  (A) Wash-out 

(B) ok’k&bu  (B)  Wash-in 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

45. fuEufyf[kr esa ls dkSu&lh fof’k”V isMkstsfud 

izfØ;k ugha gS \ 

 
45. Which of the following is not specific 

pedogenic processes ? 

(A) iRFkjkuk  (A) Calcification 

(B) ik’ohZdj.k  (B)  Laterization 

(C) f’kfFkyrk  (C)  Podzolization 

(D) fu{ksi.k  (D)  Illuviation 



 

Ag-103 ( 16 )  Set-B 

46. fuEufyf[kr esa ls fuf”Ø; dkjd ugha gS % 
 

46. Which of the following is not a passive 

factor ? 

(A) iSr`d inkFkZ  (A) Parent material 

(B) LFkykd`fr  (B)  Topography 

(C) tyok;q  (C)  Climate 

(D) Hkwfe dh vk;q  (D)  Age of soil 

47. dS/m bdkbZ gS % 
 

47. dS/m is unit of : 

(A) /kuk;u fofue; {kerk dh  (A) CEC 

(B) ih- ,p- dh   (B)  pH 

(C) bZ- lh- dh  (C)  EC 

(D) vof’k”V lksfM;e dkcksZusV dh  (D)  RSC 

48. ubZ tyks<+ e`nk dks vkSj fdl uke ls iqdkjrs 

gSa \ 

 
48. New alluvial soils are also known as : 

(A) [kknj ènk;sa  (A) Khadar soils 

(B) Hkkaxj ènk;sa  (B)  Bhangar soils 

(C) yky e`nk;sa  (C)  Red soils 

(D) vEyh; lYQsV e`nk;sa  (D)  Acid sulphate soils 

49. _.kk;u fofue; {kerk vf/kd gksrh gS % 
 

49. Anion Exchange Capacity (AEC) is 

highest in : 

(A) ds;ksfyukbV esa  (A) Kaolinite 

(B) oehZdqykbV eas  (B)  Vermiculite 

(C) bykbV eas  (C)  Illite 

(D) áwel esa  (D)  Humus 
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50. e`nk dk v/;;u tks ikni o`f) ds ǹf”Vdks.k 

ls fd;k tkrk gS] mls dgrs gSa % 

 
50. The study of soils in relation to plant 

growth is known as : 

(A) isMksykWth  (A) Pedology 

(B) bMSQksykWth  (B)  Edaphology 

(C) ikfjfLFkfrdh  (C)  Ecology 

(D) e`nk laLrj  (D)  Soil horizons 

51. e`nk izksQkby ds v] b rFkk c laLrjksa dks 

feykdj curk gS] mls dgrs gSa % 

 
51. In soil profile A, E and B horizons, 

collectively are called : 

(A) laLrj  (A) Horizons 

(B) fjxksfyFk  (B)  Rigolith 

(C) e`nk izksQkby  (C)  Soil profile 

(D) lksye  (D)  Solum 

52. fuEufyf[kr esa ls :ikUrfjr pV~Vku ugha  

gS % 

 
52. Which of the following is not a 

metamorphic rock ? 

(A) LysV  (A) Slate 

(B) ekcZy  (B)  Marble 

(C) xzsukbV  (C)  Granite 

(D) uhl  (D)  Gneiss 
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53. cslkYV pV~Vku mnkgj.k gS % 
 

53. Basalt rock is an example of : 

(A) :ikUrfjr pV~Vkuksa dk  (A) Metamorphic rocks 

(B) vkXus; pV~Vkuksa dk  (B)  Igneous rocks 

(C) volknh pV~Vkuksa dk  (C)  Sedimentary rocks 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

54. e`nk flLVe esa izoLFkk;sa ik;h tkrh gSa % 
 

54. Phases found in soil system are : 

(A) Bksl] nzo ,oa xSl  (A) Solid, liquid and gas 

(B) Bksl ,oa xSl  (B)  Solid and gas 

(C) Bksl ,oa nzo  (C)  Solid and liquid 

(D) nzo ,oa xSl  (D)  Liquid and gas 

55. 40&50% rd flfydk dh ek=k okyh pV~Vkusa 

gSa % 

 
55. Rocks containing 40-50% silica are called : 

(A) mnklhu  (A) Neutral 

(B) vEyh;  (B)  Acidic 

(C) {kkjh;  (C)  Basic 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

56. flYV d.kksa dk O;kl gS % 
 

56. The diameter of silt particle is : 

(A) 0.002 mm ls de  (A) Less than 0.002 mm 

(B) 0.002 mm ls T;knk  (B)  More than 0.002 mm 

(C) 0.02 mm ls de  (C)  Less than 0.02 mm 

(D) 0.02 – 0.002 mm  (D)  0.02 – 0.002 mm 
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57. DyksjkbV fdl izdkj dk [kfut gS \ 
 

57. Chlorite is which type of mineral ? 

(A) 2 % 1 izdkj  (A) 2 : 1 type 

(B) 1 % 1 izdkj  (B)  1 : 1 type 

(C) 2 % 1 % 1 izdkj  (C)  2 : 1 : 1 type 

(D) mi;qZDr lHkh  (D)  All of the above 

58. e`nk izksQkby esa dqy fdrus eq[; laLrj gksrs 

gSa \ 

 
58. Number of master horizons in soil profile 

is : 

(A) 4  (A) 4 

(B)  5  (B)  5 

(C)  2  (C)  2 

(D)  6  (D)  6 

59. e`nk gS % 
 

59. Soil is a/an : 

(A) izkd`frd fi.M  (A) Natural body 

(B) d`f=e fi.M  (B)  Artificial body 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

60. isVªksykWth v/;;u djrk gS % 
 

60. Petrology is the study of : 

(A) e`nk fuekZ.k dk  (A) Soil formation 

(B) e`nk lajpuk fuekZ.k dk  (B)  Soil structure formation 

(C) pV~Vkuksa ds foKku dk  (C)  Science of rocks 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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